© MISSION SSC 2023

e

MATHS Live Quiz-25

we 06:00 PM




T ————— e — —_— .

[— e —————et—

l
1 (325 + 326 +327 4 328) is divisible by / RV & 2 r

A. 11
B. 16
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1’2 A number when divided by 80 leaves remaind{g)
20. what is the remainder when the same

‘ ‘f number is divided by 16?
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The simplified value of I'FIF-I id P

(1-3) (2 -3) (@=3) (1-5;) (1-55) is
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1O The average height of 30 boys out of a class of 50 is
160 cm. If the height of remaining boys is 165 cm,

the average of the whole class (in cm) is:

|f 50 & UPH THE H ¥ 30 ASH| P! ST HaTs 160 A
| g1 ufe Qv dsHl &t HATs 165 THI g, ol )
| i @ 8 R

|

(1) 161
(3) 163
(4) 164
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l 1 By mistake, instead of dividing Rs 117 among A,B and C in
) the ratio >:2:2 it was divided in the ration of 2:3:4. Who gains
| the most and by how much ?

| et @, A, B 3R ¢ & | 117 FUA I SruTe :o: H Rvifra

| 1 S P IO 39 2:3:4 & | fauifora foear war 411 19 I
|

3ftre a1y 3R fha=T g 2

(1) A, Rs

|
1
| (2) B, Rs
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‘ ' 1 Solution A contains 10% acid and solution B contains 30% 1 ‘
1 acid. In what ratio should solution A be mixed with Solution |
B to obtain a mixture with 25% acid?
fagor A | 10% et SR Yo B8 H 30% 37 Bl 25% 3FA & |
AT FIYOT YT H F 1T T S[UT | A 3R B g ‘
foramar st =mfae?

:

(1)1:2

2) 3:1
h

(4) 2:1




I The value of a machine depreciates every year at the
9 rate of 10% on its value at the beginning of that year.
| If the current value of the machine is Rs 729, its
|f worth 3years ago was:
|
| |
|
| J (2) Rs
| 750.87

frdt aefiF ST g s ad 10% P R A FRar gt 3 af
i (3) Rs

Ugd Yed RTERN Al 3 qH a1 7293 7
947.10
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2 A man bought 500 metres of electronic wire at 50 pais
I per metre. He sold 50% of it at a profit of 5% At what

||| per cent should he sell the remainder so as to gain
110% on the whole transaction?

| ©® 3reHt = 50 99 e Hew 1R 500 WWW

| |

N @iig a1 8,39 TIPT 50% 5% & AH W m@@/ ,

frae % W S==T Tifee a1f ¥ a9e TR 10% ° M

| T 5T w2 (2) 12.5% I
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(4) 20%
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800 . One child goes free with two adults. If a group
has 25 adults and 12 children, what is the discount

! the group ets?
%mﬁwwoomﬁ%mwaﬁm

| ??m-;“ﬁ R ol sl
25 qy<h 12
ALl

(2) 20.38

V4
/j Ticket for an adult is Rs. 1500 and that of a child is Rs. S




Mr. Dutta desired to deposit his retirement benefit of Rs 3 Iac

3y partly to a post office and partly to a bank at 10% and 6%

}| interests respectively. If his monthly interest income was Rs

Il 2000, then the difference of his deposits in the post office and
1 in the bank was : ’

K EErE T 3 TG FUT BT ATH SRS

U H Th STHUR A 3R TP d W STHT Hdl ¢ TS Pl &
SHHT: 10% 3R 6%_8 , Ife AIRIS =TT 3T 2000 FRY 4,
| @ STouR SR d H STHT M BT 3feR T8 UT -

50000
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‘ W@Hﬁﬁﬂﬁ%ﬁﬁﬁgﬂ 24 GEYT 3R 24 ASDHI l'
9Ei%wﬂ-—reaw Qd & BTH Y12 |

Il (1) 9
M 210 |
| (3) 6

‘ 18 men or 36 boys working 6 hours a day can plou

gh ‘
J field in 24 days. In how many days will 24 men and 24
boys working 9 hours a day plough th same field ?

|
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Two cars A and B travel from one city to another. At speeds ‘
72 kmph and 90kmph respectively. If car B takes 1 hours lesser @

than can A for the journey, then what is the distance (in
km.)between the two cities?

I|

| STPR A MR T TF WG A Y Ve § T 3 8 | SHH: 72 ’
| forit fe He 3R 90 fpeit wiar e 6 7ifa |, afd PR B am & frg '1‘
| AS1HTH a1 €, dt | gf @ (Pt 1) Y we’l & e .

| (1) 270
. »
(3) 240
I (4) 400
(-
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! If n=7 +4+/3, then the value of (\/ﬁ + \/iﬁ) t
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Jd a+b= 3, then a3+b3+9ab-27
u
1
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The base of a triangle is 12 V3 cm and two angles at
the base are 30° and 60° respectively. The altitude of
the triangle is

AP FTMMYR 12 V3 cm TUT TYR TR I HIUT SHHIT:
300 9T 60° & | FPIvr #1 TS 8




P ————
Je—— L —
—_— e — e —

L)
/

A~ Two circles of diameters 10cm and 6cm have the ‘
; 'f same centre. A chord of the larger circle is a tangent

| of the smaller one. The length of the chord is

| <l ad 1P 3T 10cm 3R 6cm RoFT®T $% T 8.

) gaﬁvﬂm@%aﬁaﬁwm%a‘rvﬂmaﬂm
d ?

| (1) 4cm

(3) 6cm
(4) 10 cm
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Circumcentre of APQR is O. If Z QPR =55° and £ ‘ w
QRP =759 what is the value in degree of Z OPR?

gk~ APQR $To § £ QPR =55° 3fiR ~ QRP =75°
dl BIUT £ OPR?
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1 The perimeter of a triangle is 54 m and its sides are i
' the ratio of 5:6:7. The area of the triangle is .
|

oo ot ulRfer 54 e 7 3R :6:7 P
% e ;4!85%% SqP U&f 5:6:7

|| (1) 18 m?

2) 54 V6
m?2
(3) 27 v2m?
(4) 25 m?







